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it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
B R B T
= 1 17, 899, 662
SRRAR M7 L=13. 5m $T3AFK 13.0m 53K
£ 13.0m
bie 123 67,939 8, 356, 497
SRRAR M#A L=13. 5m #15AFE 13.0m
bie 14 173, 906 2,434, 684
HEATT H300 L=9.0m fTAE 8.5m
VN 2 99, 765 199, 530
RIS 3 AT
m2 722 3,912 2,824, 464
Bk fEk L
t 33. 121,014 4, 066, 070
BLADK VAV
T 10 337.9 3, 379
BUG 8 A i SHSAR, HERAL
= 1 15, 038
B2 N/ VA
= 1 3, 807, 999
%%71/&
= 1 3, 807, 999
CVAL
= 1 240, 477
= Bk
= 1 240, 477
A B L
= 1 2, 696, 320
AR B
= 1 2, 696, 320
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
B T HE
= 1 138, 625, 953
BTl TE:
= 1 23, 094, 085
B ST ¢
= 1 7, 665, 028
TR
= 1 4,501, 709
T RR A oy FRAR ST A R
= 1 3,321,272
IR T
= 1 1, 180, 437
et
= 1 58, 363
T HEA R &
= 1 58, 363
Htre m
= 1 160, 313
VSN lne ¢
= 1 106, 692
B M R FEART IR
= 1 53, 621
BUGERRYCEE (5 1)
= 1 2,944, 643
HimE R (FE L)
= 1 15, 429, 057
Wi
= 1 161, 720, 038
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM

BTk X=giiv

= 1 49, 228, 167
R 5]

= 1 210, 948, 205
— R

= 1 32, 301, 795
Tk

= 1 243, 250, 000
THE B 2 %8

= 1 24, 325, 000
TG

= 1 267, 575, 000
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